We need to think about
allocation

Why we need to allocate?
What are the options to allocate?

How allocation might look in Rotorua
catchment?


Presenter
Presentation Notes
Intro – follow on from Sarah’s introduction and outline of session. 


We have a Target = 435tN/y

Total
54,456ha
Sustainable
Total
_ 54,456ha
320tN Reduction (42%)
L
435tN
50tN Reduction (7%)
Clrrent Engineering Intervention
Pasture area
21,175ha —
(Dairy, Drystock Current
and Lifestyle) 270tN Reduction (51%) Pasture area
256tN/yr

Areas and N loss levels from ROTAN (NIWA, 2011)


Presenter
Presentation Notes
A key message from this slide is the required reduction of nutrient loss from pastoral land. It is significant. We need to come up with a way to allocate the sustainable load. I know these figures are familiar to you all but I think we need to start here today.

The RPS requires that the sustainable load of 435tN/yr will be allocated amongst land use activities. The current nitrogen load to the lake is 755 tN/yr. This requires a reduction of 320tN/Yr. It is estimated a further reduction of 50 tonnes can be achieved through engineering interventions such as sewage upgrades. Some of those losses we can not reduce further for example forestry and rain on lake. And if we leave gorse to the side for the moment (not explicitly modelled as explained in handout) we are left with 256 tN/yr to allocate. 



Policy decision has to be made on what existing

uses will qualify for allocation

Current

Pasture only

21,175 ha
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270tN Reduction (51%)
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42,357 ha
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Current area
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Pasture
43 357 ha
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B keMN/ha

Areas and N loss levels from ROTAN (NIWA, 2011)



Presenter
Presentation Notes
Depending on what land uses we include in our modelling, will affect what numbers we get in order to achieve our target? Likewise we need to acknowledge there are differences in the figures we are using. Part of our process will need to be agreeing on definitions, what’s in and what’s not, what data sets to use.


We need to allocate 256tN across
pastoral land

There will be challenges and opportunities

e Policy debate

e Tools available

e Scientific information

e Advances in mitigation

e Complexities of rule and incentives design

But the fundamental challenge of allocation remains


Presenter
Presentation Notes
Central to our work as a group is to start thinking about how to allocate the 256tN/yr. In addition to previous 2 slides, other intricacies will need to be thrashed out. Although numbers may change, the fundamental challenge of allocation remains.  





There are a number of options to allocate

. Grandparenting

. Averaging

. Land Use Capability or N Leaching vulnerability
. Outputs including profitability

° Variations / Hybrids / new

How could allocation options look in the Rotorua catchment?


Presenter
Presentation Notes
There are pro’s and con’s for each allocation method and for each there will be social and economic impacts. It is also important to note any variation or hybrid of allocation methods could be considered.  Choosing between options depends on how we apply principles of allocation and that is something we are going to consider as a group at our next meeting.  But for now we need to start thinking about how allocation could look in the Rotorua catchment. By doing that we’ll gain a better understanding of the implications. So today, we are going to work through some examples.


Grandparenting is existing use at
current discharge

Examples include Rule 11 (BoP) and Variation 5
(Waikato)

Grandparenting will not achieve the required
reduction

Possible variation (Warren)


Presenter
Presentation Notes
The key message is it will not achieve the required reduction. So any consideration of grandparenting for Rotorua catchment must have a reduction component.  Warren is going to walk us through a modified grandparenting scenario.


Averaging is 256 tonnes equally split over
the pastoral catchment of 21,175ha

Averaging could mean rolling average over set
number of years to allow for variances in production,
climate and farming operations.



Land Use Capability encourages land use at
its natural carrying capacity

Land use capability is a classification of land according

to its capability for long-term production.
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Presentation Notes
Productive capacity depends on the physical quality of the land soil and environment.  Higher nutrient limits would be allocated to better classes of land.


Horizons have adopted a Land Use
Capability (LUC) method of allocation

Lo Lwer wca Luce wes e Lucy s

Year 1

Year 5 27 25 21 16 13 10 6 2
Year 10 26 22 19 14 13 10 6 2
Year 20 25 21 18 13 12 10 6 2

Each property has a unique and fixed mix of LUC classes

Is Land Use Capability based allocation relevant to the Rotorua
Catchment?


Presenter
Presentation Notes
Horizons have adopted the LUC approach but we need to consider how or if this approach could be applied in our Rotorua catchment. Again Warren is going to walk us through a scenario based on LUC


Allocation Scenarios - Warren

They are just that.....possible scenarios

Purpose is to starting our thinking about how
allocation could look in the Rotorua catchment


Presenter
Presentation Notes
Warren, Ideas and Alternatives, Preferred approaches, Allocation Principles



Next Steps......

e Report back to Group on ideas, alternatives
and preferred approaches

e Further information

e More worked examples

Next Month — Allocation Principles












eg. ROTAN =21,175ha pasture

LUC database = 19,500ha pasture
(and what’s in the 1136ha of Class 0 land?)

RDC database also at variance with
ROTAN / BOPRC database


Presenter
Presentation Notes
Following on from that is we need to acknowledge there are differences in the figures being used. As part of this process we need to agree on what figures to use for the purposes of calculating allocation.
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